
1) 28 - (-36)

Answer: ____________

2) 15/12 - 2/7

Answer: ____________

3) 1/44 of 220

Answer: ____________

4) (-26) x 28

Answer: ____________

5) 45% of 17

Answer: ____________

6) (-71) - (-76)

Answer: ____________

7)
Find the next three numbers in 
the sequence
64,68,272,276,1104,1108,4432__,__,__

Answer: ____________

8) Round 16.579 to the nearest 10000

Answer: ____________

9) 20.6 x 17.3

Answer: ____________

10) A number was shared in the ratio 
6:12. The smaller share was 27. 
What was the total amount shared?

Answer: ____________

Total: ___ / 10
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Answers:

1) 64 2) 27/28 3) 5 4) 5) 7.65 6) 5 7) 4436,17744,17748,

8) 16.579 9) 356.38 10) 81
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